THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

MEETING OF THE BOARD OF EDUCATION JUNE 17, 2015

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on June 17, 2015 at 5:30 p.m.

Michibars: President Irene Gische, Vice President Deanna Bavlnka, Trustee Inger Germano, Trustee Jeffrey Kerman, Trustee Jonathan Kornreich, Trustee

Musanheers Aab Meent delson, Trustee

Alterydr Parditsich, Superintendent

Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources Kathleen Sampogna, District Clerk George Zenzerovich, Student Representative to the Board 2014-2015 Joseph Hines, Student Representative to the Board 2015-2016 Visitors

CHALCOTION called the meeting to order a 5:30 p.m. ORDER

MIONOTIFINATION Ms. Bavlnka, seconded by Ms. Germano, and carried by a 6-0-0 vote, the Board EXECUTIFINATION of a particular person(s) and collective bargaining.

RECODENTE NIE convened into open session at 7:45 p.m. Mrs. Pedisich led the pledge of ENEGOREBLIC SESSION

CHANGES IN

THE MEETING

AGENDAem L.1 - Establishment of Employee Position at Ward Melville High School

- Item L.2 Resolution Creating Clerical Positions
- Item L.3 Approval of Agreement Between Erin Blaney and the Three Village Central School District
- Item L.4 Approval of Memorandum of Agreement for the Three Village School Administrators' Association
- Item M.2 Schedule B.5

Replacement Pages:

• Item M.2 – Cover Page and Schedules B.2, B.17c, and B.18

NICUIDISMICION By an Scriven was recognized for winning the School Bus Safety Poster contest STICALF is presented with a certificate and check for \$50.00 RECOGNITION

Mr. McManus presented certificates to the Murphy Science Bowl students.

Mr. Vorwald presented certificates to the Gelinas Science Olympiad Students.

Ms. Cadolino presented a certificate to Sahil Sangwan for his achievement in the Scripps Spelling Bee.

Certificates of Appreciation were presented to Interim Assistant Principals Robert Harrington, Martin Malone, and Brian McCarthy.

TENBURE: recognized newly tenured staff members and there was a brief recess for REFERENTIAN

Phate Mas no Public Participation at this time. PARTICIPATION

BID

Biph Number of Schools, be it RESOLVED that the Board 26 Extra toward Bid Number C-2358, as presented.

Reconstruction at Gelinas JHS – (SED # 58-02-01-06-0-008-037)

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

REPORTS

Student Representative Report George Zenzerovich reported on recent and upcoming events, including the senior prom and graduation. He introduced Joseph Hines, the Student Representative for the 2015-2016 school year.

IG/Enrichment

Mr. Scanlon, Kathryn White, and Gretchen Tranchino presented the IG/Enrichment report.

INFORMATION ITEMS TO THE BOARD Ms. Bavlnka reported on recent student accomplishments.

ITEMS FOR BOARD ACTION

Curriculum Writing Projects 2015-2016 Mr. Scanlon presented the Curriculum Writing Projects report.

On motion by Ms. Gische, seconded by Ms. Germano, and carried by a 6-0-0 vote, the Board accepted the report.

Approval of Budgetary Transfers (Over \$10,000) Upon recommendation of the Superintendent of Schools, be it RESOLVED that the following budgetary transfer be approved:

FROM	AMOUNT	TO	REASON
A2110-4800-03060	\$1,647.67	A2110.4800-03-24	To cover cost of
Mnt Literacy Coll Textbooks		Mount Textbooks	textbooks needed
			for each grade level
A2210.5010-03-24	\$9,868.48	A2110.4800-03-24	To cover cost of
Mnt Dir/Supv Suppl-Mat		Mount Textbooks	textbooks needed
			for each grade level

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Acceptance of Donations

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education accept with gratitude the following items:

- A check in the amount of \$100.00 donated to the Jody Eff Scholarship Fund (TE920) by Michael J. Greene.
- A check in the amount of \$30.00 donated to the Jody Eff Scholarship Fund (TE920) by Kevin Harnett.
- A check in the amount of \$18.00 donated to the Jody Eff Scholarship Fund (TE920) by Ilene Schlank.
- A check in the amount of \$1000.00 donated as a scholarship (TE93A) in the name of Suffolk Transportation Service, Inc. to be awarded to a graduating senior(s).
- A check in the amount of \$600.00 donated to Minnesauke Elementary School by the Three Village Music Boosters to be used towards the purchase of Adventureland T-Shirts.
- A check in the amount of \$2,000.00 donated to the Ward Melville Boys Varsity Volleyball Program by Andrea and Jim Allen
- A check in the amount of \$500.00 donated to the ASBO Scholarship Fund (TE92X) by the Suffolk Association of School Business Officials.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approval of Contract with Outside Service Provider for Educational Services Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the *Consultant Services Contract* for educational services for the 2014-2015 school year with the following provider:

Princeton HealthCare System

On motion by Mrs. Gische, seconded by Ms. Bavlnka, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approval of Special Education Tuition Contracts Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the contracts for instruction/services to be provided by the schools listed below to Three Village Central School District students for the 2015-2016 school year.

- ASCENT: A School for Individuals with Autism
- Maryhaven Center of Hope
- SCO Family of Services

On motion by Mrs. Gische, seconded by Ms. Bavlnka, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approval of Contracts with Outside Service Providers for Special Education Services Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the *Consultant Services Contracts* for special education services for the 2015-2016 school year with the following providers:

- Cheryl Antonucci
- Helen Badoyannis
- Career and Employment Options
- Developmental Disabilities Institute
- Family Residence and Essential Enterprises
- GB Language Consulting
- Joint Works
- Julie Johnson
- Susan Kaspar
- Kids in Action of Long Island
- David M. Krolikowski
- Agnes McConlogue
- Mill Neck Interpreting Service
- NY Therapy Placement Services
- OT Kids
- PBS Consulting & Psychological Resources
- Leslie Packer
- David Seyfert
- Tender Age PT

On motion by Mrs. Gische, seconded by Ms. Bavlnka, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approval of Health and Welfare Services Contracts Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the contract for health and welfare services for the 2014-2015 school year with the following school district:

Hauppauge UFSD 2 Students @ \$915.52 = \$1,831.04

On motion by Mrs. Gische, seconded by Ms. Bavlnka, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Authorize Participation in Cooperative Bids for Cafeteria and Food Supplies Upon recommendation of the Superintendent of Schools, be it RESOLVED that the attached resolution authorizing participation in cooperative bids for cafeteria and food supplies for the Child Nutrition Program for the 2015-2016 school year be approved and that the President of the Board of Education be authorized to execute same.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approve Renewal of License Agreement with American Society of Composers, Authors and Publishers (ASCAP) Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the renewal of the license agreement with the American Society of Composers, Authors and Publishers at annual fee of \$335.00 for the period July 1, 2015 through and including June 30, 2016.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Personnel Action
- Establishment of
Employee
Position at Ward
Melville High
School

RESOLVED that the Board of Education hereby establishes the following clerical position effective retroactively to March 9, 2015:

10 month Clerk Typist at Ward Melville High School health office.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Resolution Creating Clerical Positions RESOLVED, upon recommendation of the Superintendent of Schools, that the Board of Education hereby establishes the creation of the following clerical positions, effective July 1, 2015:

Position Location

12 month Clerk Typist Human Resources Office 12 month Senior Account Clerk Typist Business Services Office

10 month Clerk Typist Duties split between PJ Gelinas JHS Library,

& the R.C. Murphy JHS Library

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approval of Agreement Between Erin Blaney and the Three Village Central School District Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education hereby approves the attached agreement with Erin Blaney relative to her service as Assistant Director of K-9 Physical Education and Health, effective July 1, 2015, and authorizes the President of the Board of Education to execute same.

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approval of Memorandum of Agreement for the Three Village Schools Administrators' Association Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board hereby authorizes the Board President to approve the Memorandum of Agreement, dated June 17, 2015, which was executed by the Superintendent of Schools and the President of the Three Village School Administrators' Association.

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Personnel Matters

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

RETIREMENT

<u>Name</u>	School/Assignment	Effective Date	Date of Hire
Dorothy Markey	WMHS/Teaching	6/30/15	9/8/87
	Assistant		

RESIGNATIONS

<u>Name</u>	School/Assignment	Effective Date	Date of Hire
Fore, Patricia	Districtwide /	6/30/15	9/1/86
	Coordinating Chair		
	of Special Education		
Patricia Mastropierro	Setauket/Teacher	6/30/15	9/1/98

LEAVES OF ABSENCE

<u>Name</u>	School/Assignment	Effective	Reason	Tenured
LaRochelle,	District-Wide/	7/1/15 -	Unpaid	Yes
Christopher	Physical Education	6/30/16		

APPOINTMENTS TO INSTRUCTIONAL POSITIONS

Foronjy, Nicole

Reading Teacher LIU, C.W. Post- BS LIU, C.W.Post - MS Previous Tenure - No Related to current employee - No Salary Step/Level - 1/MA+15 Effective - 8/31/15

This is a three -year probationary appointment with tenure due 9/1/18. This appointment is due to the retirement of Dorothy Lehman. Ms. Foronjy will be assigned to Minnesauke and Nassakeag Elementary Schools. Ms. Foronjy is currently employed as a substitute teacher in the District. Fingerprint clearance is on file.

Napolitano, Catia Reading Teacher

St. Joseph's College – BA Dowling College – MS Previous Tenure – No

Related to current employee- No Salary Step/Level -1/MA Effective 8/31/15

This is a three -year probationary appointment with tenure due 9/1/18. This appointment is due to the retirement of Mary Ellen Doyle. Ms. Napolitano will be assigned to Ward Melville High School and Mount Elementary School. Fingerprint clearance has been received.

APPOINTMENTS OF **CO-CURRICULAR SPONSORS**

Last Name	First Name	Building	<u>Activity</u>	Effective	Rate	Not to Exceed
Co-Curricular (Clubs					
Gitter	Marilyn	Setauket	Creative Writing -	2014-2015	\$1,442.00	\$1,442.00
			Spring Club			
Ms. Gitter was previously approved for this club on 11/12/14. Ms. Gitter completed 30 hours in the fall and has						
begun another 30 hours for the spring session.						

APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

<u>Last Name</u>	First Name	Building	Assignment	<u>Effective</u>	Stipend	Not to Exceed
Lead Teachers						
Dattero	Anthony	Gelinas	Lead Teacher - Guidance - 10+ Years	2015- 2016	\$4,631.00	\$4,631.00
Jenkins	Nancy	Gelinas	Lead Teacher - Family and Consumer Science - 10+ Years	2015- 2016	\$4,631.00	\$4,631.00
Kula	Marnie	WMHS	INSTAR-1st year	2015- 2016	\$2,044.00	\$2,044.00
Pelosi	Andrew	WMHS	Social Studies Lead - 2nd Year	2015- 2016	\$2,648.00	\$2,648.00
Ambrose	Donald	WMHS	Math Lead - 2nd Year	2015- 2016	\$2,648.00	\$2,648.00
Contino	Linda	WMHS	High School Music Lead - 4th Year	2015- 2016	\$2,648.00	\$2,648.00
Stipends						
Pimentel	Laura	North Country	My Learning Plan	2015- 2016	\$ 47.39/hr	\$3,000.00
Pimentel	Laura	North Country	APPR	2015- 2016	\$ 47.39/hr	\$5,000.00
Domenech	Deborah	WMHS	Flagline Advisor	2015- 2016	\$2,311.00	\$2,311.00
Ayala	Michael	WMHS	Drum Core	2015- 2016	\$2,311.00	\$2,311.00
6th Class Assig	nment					
Williams	John	WMHS	6th Class Assignment, .2 Technology	5/11/15 - 5/31/15	\$22,131.00	\$22,131.00
Williams	John	WMHS	6th Class Assignment, .2 Technology	6/1/15 - 6/30/15	\$22,352.00	\$22,352.00

^{**}These above stipends for John Williams will be prorated from 5/11-6/30/15.

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

<u>Last</u> <u>Name</u>	<u>First</u> <u>Name</u>	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed
Chaperonin	g/Supervision	<u>n</u>					
Rossett	Loretta	Murphy	Nurse Chaperone for Orchestra/Choru s competition trip to Hershey Park, PA	5/29/15 - 5/30/2015	\$ 19.79/hr	37.5	\$742.13
**This reco		is being subn	nitted after the activit	y because Ms. I	Rossett was ask	ed to chaperone	the trip at
Chimienti	Jennifer	WMHS	Prom Chaperone	6/25/2015	\$ 41.29/hr	12	\$495.48
	an additiona led on 6/3/15.		the 8 that were previs	souly			
Lopinto	Philip	District- Wide	Various District Concerts and Rehearsals	2015-2016 School year	Accompanist Rate for out-of-district vendor	6 Concerts & Rehearsals	\$3,600
Trump	Carol	District- Wide	Various District Concerts and Rehearsals	2015-2016 School year	Accompanist Rate for out-of-district vendor	2 Concerts & Rehearsals	\$600
Waxen- burg	Marjorie	District- Wide	Various District Concerts and Rehearsals	2015-2016 School year	Accompanist Rate for out-of-district vendor	2 Concerts & Rehearsals	\$600
Marcus	Jeffrey	District- Wide	Various District Concerts and Rehearsals	2015-2016 School year	Accompanist Rate for out-of-district vendor	2 Concerts & Rehearsals	\$600
Lisanti- Levy	Geri	District- Wide	Various District Concerts and Rehearsals	2015-2016 School year	Accompanist Rate for out-of-district vendor	2 Concerts & Rehearsals	\$600
AIS Services							
Hanscom	Stanley	Gelinas	Algebra 1 Regents Review	5/5/15 - 6/11/15	\$ 53.74/hr	5	\$268.70
McNam- ara	Laura	Gelinas	Algebra 1 Regents Review	5/5/15 - 6/11/15	\$ 53.74/hr	5	\$268.70
**These am on 5/6/15.	nounts are in	addition to the	e recommendation				
Stelfox	Kristin	WMHS	June Regents Review Classes	May 2015/June 2015	\$ 53.74/hr	3	\$161.22
Rochford	Lisa	WMHS	June Regents Review Classes	May 2015/June	\$ 53.74/hr	1	\$53.74
** This is a	n additional l	nour needed th	hat is added to the or	2015 iginal recommen	ndation of 6/3/1	5.	
Professiona Developme							
Gustafson	Eric	Setauket	Professional Development Workshop - Elementary Science/A Stronger Lesson!	06/29/15	\$ 72.19/hr	6	\$433.14
Gustafson	Eric	Setauket	Professional Development Workshop - Go Beyond, Go Math!	06/30/15	\$ 72.19/hr	6	\$433.14

Taborsky	Cheryl	WMHS	Professional Development Workshop - Emotional Literacy & Conflict Resolution!	06/29/15	\$ 72.19/hr	3	\$216.57		
Home Tutor	ring								
DeSantis	Christina	Minnesauke	Home Tutoring	5/11, 5/12, 5/13, 5/14, 5/15	\$ 45.15/hr	5	\$135.45		
DiFede	Christine	WMHS	Home Tutoring	5/15, 5/18, 5/19	\$ 45.15/hr	3	\$316.05		
Diamond	Della	Setauket	Home Tutoring	4/14, 4/15, 5/6, 5/8,	\$ 45.15/hr	7	\$135.45		
Prochillo	Kristin	Nassakeag	Home Tutoring	5/11, 5/15 4/28, 4/30, 5/5, 5/7, 5/12, 5/14, 5/19, 5/21,	\$ 45.15/hr	3	\$632.10		
Rochford	Lisa	Academy	Home Tutoring	5/26, 5/28 5/6, 5/7, 5/13, 5/14, 5/21, 5/27, 5/28	\$ 45.15/hr	3.5	158.03.		
	APPOINTMENTS OF SUMMER ASSIGNMENTS								
<u>Last Name</u>	<u>First</u> <u>Name</u>	Building	Assignment	<u>Effective</u>	<u>Rate</u>	<u>Hours</u>	Not to Exceed		
Chaperone/	Supervision								
Gustavsen	Laura	WMHS	Chaperone/Ove ight - Band Car in Pine Forest			3 overnight	\$450.00		
G .		ND GIG	Camp, PA	0/07/001	, dana / 1	4.1	#1 200 00		
Gustavsen	Laura	WMHS	Chaperone/Ove ight - Band Car in Pine Forest		ř	4 days	\$1,200.00		
Hayes	Daniel	Mount	Camp, PA Chaperone/Ove ight - Band Can		5 \$150/night	3 overnight	\$450.00		
			in Pine Forest Camp, PA	8/30/2015	5				
Hayes	Daniel	Mount	Chaperone/Ove ight - Band Car in Pine Forest		ř	4 days	\$1,200.00		
	.		Camp, PA	0.105.1001	- 6450/11		0.450.00		
Domenech	Deborah	WMHS	Chaperone/Ove ight - Band Car in Pine Forest		· ·	3 overnight	\$450.00		
Domenech	Deborah	WMHS	Camp, PA Chaperone/Ove	ern 8/27/201:	5 \$300/day	4 days	\$1,200.00		
			ight - Band Car in Pine Forest Camp, PA		ř	,	, -, - , - , - , - , - , - , - , - , -		
Ayala	Michael	WMHS	Chaperone/Ove	ern 8/27/201:	5 \$150/night	3	\$450.00		
			ight - Band Car in Pine Forest Camp, PA	mp - 8/30/2015	5	overnight			
Ayala	Michael	WMHS	Chaperone/Ove		5 \$300/day	4 days	\$1,200.00		
			ight - Band Car in Pine Forest Camp, PA	np - 8/30/2013	5				
Meier	Brendan	WMHS	Chaperone/Ove		5 \$150/night		\$450.00		
			ight - Band Car in Pine Forest Camp, PA	mp - 8/30/201:	5	overnight			
Meier	Brendan	WMHS	Chaperone/Ove ight - Band Can		5 \$300/day	4 days	\$1,200.00		
			in Pine Forest Camp, PA	8/30/2015					
Hill	Jeanie	WMHS	Chaperone/Ove ight - Band Car		5 \$150/night	3 overnight	\$450.00		
			in Pine Forest Camp, PA	8/30/2015			0.7		
Hill	Jeanie	WMHS	Chaperone/Ove ight - Band Car		5 \$300/day	4 days	\$1,200.00		
			in Pine Forest Camp, PA	8/30/2015	5				

Summer Rea	ding						
Schultz	Lyndsay	Setauket	Substitue Teacher - Elementary Summer Reading Program	7/6/15 - 7/30/15	\$ 54.81/hr	48	\$2,630.88
Schultz	Lyndsay	Setauket	2 Hours Curriculum Training	7/6/15 - 7/30/15	\$ 54.81/hr	2	\$109.62
ESY Program							
Degamon	Jessica	Mount	ESY Program -	7/6/15 -	\$ 15.50/hr		
Prestia	Krista	Mount	TA ESY Program -	8/14/15 7/6/15 -	\$ 15.50/hr		
Salerno	Ashleigh	Mount	TA ESY Program - TA	8/14/15 7/6/15 - 8/14/15	\$ 15.50/hr		
ECV Culturit	-4						
ESY Substitu Program LaCapria	Melissa	Mount	ESY -Substitute Principal	7/6/15 - 8/14/15	\$ 325/per diem		
Summer Enri	chment						
Alkon	Patricia	Minnesauke	Summertime	7/6/15-	\$25/hr		\$800.00
			Storytime and Craft	7/17/15			
Allen	Susan	Minnesauke	Assistant	7/6/15- 7/17/15	\$15/hr		\$800.00
Andolina	Renee	Minnesauke	My Own Sketchbook!/My Fashion Illustration Journal	7/6/15- 7/17/15	\$25/hr		\$800.00
Conlon	Toni	Minnesauke	Getting Ready For Kindergarten	7/6/15- 7/17/15	\$35/hr		\$1,200.00
Gerber	Monica	Minnesauke	Science	7/6/15-	\$35/hr		\$1,750.00
Gitter	Marilyn	Minnesauke	Olympiad Creative Writing	7/17/15 7/6/15-	\$25/hr		\$800.00
Hammer	Brian	Minnesauke	Assistant	7/17/15 7/6/15-	\$15/hr		\$800.00
Howard	Cynthia	Minnesauke	Wellness Games	7/17/15 7/6/15-	\$25/hr		\$800.00
Ihne	Dawn	Minnesauke	& Sports Assistant	7/17/15 7/6/15-	\$25/hr		\$1,500.00
				7/17/15			
Kain	Bonnie	Minnesauke	Assistant	7/6/15- 7/17/15	\$15/hr		\$800.00
Levenson	Jamie	Minnesauke	Assistant	7/6/15- 7/17/15	\$15/hr		\$800.00
Malone	Lauren	Minnesauke	Cartooning	7/6/15- 7/17/15	\$35/hr		\$1,200.00
McNamara	Lisa	Minnesauke	Assistant	7/6/15- 7/17/15	\$15/hr		\$800.00
Menten	Susan	Minnesauke	Instructor	7/6/15- 7/17/15	\$25/hr		\$1,000.00
Messina	Lorna	Minnesauke	Dance, Dance Dance/Tu Tu Much!	7/6/15- 7/17/15	\$25/hr		\$800.00
Mintz	Barbara	Minnesauke	Sweet Tooth	7/6/15-	\$45/hr		\$1,800.00
Novetti	Jason	Minnesauke	Assistant	7/17/15 7/6/15-	\$15/hr		\$800.00
Oliver	Kim	Minnesauke	Moovin' and Groovin' in the	7/17/15 7/6/15- 7/17/15	\$25/hr		\$800.00
Ondrush	Sonja	Minnesauke	Summer Drinks, Dips and Desserts	7/6/15- 7/17/15	\$25/hr		\$1,000.00
Peck	Maureen	Minnesauke	Card Making/Scrapboo	7/6/15- 7/17/15	\$35/hr		\$1,200.00
Rippe	Claudia	Minnesauke	king Learning and Exploring the Italian Language	7/6/15- 7/17/15	\$25/hr		\$800.00
Sandom-	Anthony	Minnesauke	All Sports	7/6/15-	\$25/hr		\$800.00
enico Visser	Jillian	Minnesauke	Science	7/17/15 7/6/15-	\$25/hr		\$800.00
Vorwald	Gary	Minnesauke	Olympiad Science	7/17/15 7/6/15-	\$50/hr		\$2,650.00
Weik	Andy	Minnesauke	Olympiad Digital	7/17/15 7/6/15-	\$50/hr		\$1,500.00
			Photography and Video	7/17/15			

Professional	Developmen	<u>t</u>				
Connolly	Nicole	Gelinas	Professional Development Workshop - Designing Inquiry-Based Learning	August 24, 2015	\$73.63	3
Knox	Betsy	Murphy	Professional Development Workshop - Designing Inquiry	August 24, 2105	\$73.63	3
Riggio	Clarice	WMHS	Professional Development Workshop - Teaching East Asian History	July 2, 2015	\$73.63	3
Taborsky	Cheryl	WMHS	Professional Development Workshop - Emotional Litercy & Conflict Resolution	July 1, 6, 8, & 10, 2015	\$73.63	12
Taborsky	Cheryl	WMHS	Professional Development Workshop - Tecnology Forum	July 13, 2015	\$73.63	3
Weik	Andrew	Mount	Professional Development Workshop - Infinite Campus 2015 - New Instruction Module	######################################	\$73.63	6

PPS Summer Staffing

Bergson

2014 Total Pay Guidance Staff - not to exceed \$ 45,000

Total Pay Special Education Staff: ALC/RR Teachers and general education teachers who sit on a CSE meeting - not to exceed \$20,000

Total Pay Instructional Consultants - not to exceed \$10,000

Total Pay Speech Teachers - not to exceed \$ 10,000

Total Pay ESL Teachers - not to exceed \$ 1,500

Total Pay Psychologists - not to exceed \$16,000

Total Pay Social Workers - not to exceed \$ 300

Guidance Coordinating Chairperson Linda

Guidance Counselors Dattero Anthony Treder Brian McGaley Kevin Russell Eberle Poulos Amy Zeller Joan Diehl John Mirabella Christine Anziano Erin Sheppard Jennifer Larson Allison Walter Olsen Sheridan James LoGiudice Keri Jentzen Leah Chiappino Darlene Ross Lori Caggiano Lauren **Psychologists** Lynch Mary Salas Heather Lauren Rebore Futtersak Karen

Deeg Christopher Michelle Lambert Marino Laurance Portal-Pfeffer Lolita McCabe-Fitch Kelly Salazar Jose Stevens Jennifer Social Workers Glenda Gregory Sherrill Lennon Roberts Pamela Rakowsky Debbi Virga Michelle Judy Forgione Woodruff Leia Speech Teachers Campo Angela DeMarco Marisa Kriegel Lisa Peters Toni Washing-Nicole Blumenthal Theresa Heck Melissa Farbiarz Lynn Levenberg Lauri Broome Tara McCrave Terri Juvet Tracey Gonzalez Mary Woods Sandy Rimmer Kerri Ann Sementilli Angela Carey Robin Shea Jennifer <u>ESL</u> <u>Teachers</u> Monica Aston Dawkins Gail Brussee Erin

We are also requesting that <u>all general and special ed teachers</u> be appointed as substitutes during the summer in order to attend CSE and CPSE meetings in July and August.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

RETIREMENTS

<u>Name</u>	School/	<u>Effective</u>	Years of
	<u>Assignment</u>	<u>Date</u>	<u>Service</u>
Seges, Viera	Mount Elementary	6/29/15	27 yrs. 8 mo.
_	School/		-
	Monitor		
Seges, Viera	Mount ES SACC	6/26/15	20 yrs. 8 mo.
	Program		•
	Child Care Assistant		
Seges, Viera	Program	6/26/15	20 yrs. 8 mo.

RESIGNATIONS

<u>Name</u>	School	Effective Date	<u>Length of</u> Service
Gray, Kenneth	Maintenance & Operations / Director of Facilities III	7/1/15	3 yrs. 10 mo.
Moore, Karen	Nassakeag Elementary School / Special Education Aide	6/29/15	6 yrs. 9 mo.

Zaikas, Debra Gelinas Junior High School / 6/18/15 8 yrs. 9 mo.

Lead Food Service Worker

APPOINTMENT TO NON-INSTRUCTIONAL ADMINISTRATIVE POSITION

Hanson, Robert "Acting" Director of Facilities III

Maintenance & Operations Replacing: Kenneth Gray Related to current employee: No Salary: \$475.00 per Diem

Effective: July 1, 2015 until further notification.

Mr. Hanson will assume the role of "Acting" Director of Facilities III due to the resignation of Kenneth Gray.

APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

Clerical

Bromberger, Kimberly 12 month Clerk Typist (Step 6/Level 1)

Ward Melville High School Replacing: Helen Ventura Related to current employee: Yes

Annual Salary: \$40,041 Effective: July 1, 2015

Ms. Bromberger is the daughter of Karolys Bromberger, a Principal Clerk in Business Services. Fingerprinting clearance has been received and is on file.

Meyer, Joan 10 month Clerk Typist (Step 6/Level 1)

Setauket Elementary School Replacing: Lana Gee (reassigned) Related to current employee: No Annual Salary: \$33,368 Effective: September 1, 2015

Ms. Meyer is currently a substitute teacher and substitute clerical in the district. Fingerprinting clearance has been received and is on file.

Moore, Karen 12 month Clerk Typist (Step 6/Level 1)

Minnesauke Elementary School Replacing: Susan Koch (reassigned) Related to current employee: No Annual Salary: \$40,041 prorated Effective: July 27, 2015

Ms. Moore is currently a Special Education Aide at Nassakeag Elementary School. She is resigning that position contingent upon approval of this recommendation. Fingerprinting clearance has been received and is on file.

Slack, Holly 10 month Clerk Typist (Step 6/Level 1)

Child Nutrition Office

Replacing: Iris Lin (reassigned) Related to current employee: No Annual Salary: \$33,368

Effective: September 1, 2015

Ms. Slack is currently a substitute clerical in the district. Fingerprinting clearance has been received and is on file.

CHANGES OF STATUS

Clerical

Archer, Erica From: 12 month Clerk Typist (Step 12/Level 1)

To: 10.5 month Clerk Typist (Step 12/Level 1)

Nassakeag Elementary School

Replacing: Patricia Warne (retirement)

Annual Salary: \$43,588 Effective: August 25, 2015

Lin, Iris From: 10 month Clerk Typist (Step 7/Level 1)

To: "Acting" 10 month Senior Clerk Typist (Step 7/Level 3)

Child Nutrition Office Replacing: Maura McMullin Annual Salary: \$37,136 (prorated)

Effective: January 29, 2015 until further notification.

Ms. Lin temporarily assumed the responsibilities of "Acting" Senior Clerk Typist due to the absence of Maura McMullin.

Koch, Susan From: 12 month Clerk Typist (Step 15/Level 1)

To: 10.5 month Clerk Typist (Step 15/Level 1)

Minnesauke Elementary School Replacing: Sharon Cuddy (retirement)

Annual Salary: \$54,166 Effective: August 25, 2015

Ms. Koch will remain a 12 month Clerk Typist through July 24, 2015.

Padrazo, Fran From: 10.5 month Clerk Typist (Step 15/Level 1)

Setauket Elementary School

To: 12 month Clerk Typist (Step 15/Level 1)

Office of Human Resources

New Position

Annual Salary: \$61,811 (prorated)

Effective: July 1, 2015

APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Bromberger, Kimberly Salary-\$11.65/hr. Effective-6/22/15

Ms. Bromberger is the daughter of Karolys Bromberger, a Principal Clerk in Business Services. Fingerprinting clearance has been received and is on file.

Chaikin, Sheryl Salary-\$11.65/hr.

Effective-6/18/15

Ms. Chaikin is currently a substitute monitor/SEA in the district. Fingerprinting clearance has been received and is on file.

Moore, Karen Salary-\$11.65/hr.

Effective-6/29/15

Ms. Moore is currently a Special Education Aide at Nassakeag. She is resigning that position. Fingerprinting clearance has been received and is on file.

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

<u>Last Name</u>	First Name	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed
Carpenter	Mary	Mount	Chaperone	2014-	\$41.29 per	5*	\$206.45
Williams	Donna	Mount	Chaperone	2015 2014-	hour \$41.29 per	5*	\$206.45
Williams	Jacqueline	Mount	Chaperone	2015 2014-	hour \$41.29 per	5*	\$206.45
				2015	hour		

^{*}These employees were originally BOE approved for these assignments on 10/1/14. These recommendations are for 5 additional hours each.

Fucci	Lisa	Mount	SEA 1:1 Student Supervision for Before or After School Co- Curricular Activities	2014- 2015	Regular Hourly Rate	30*	\$600.00
			Activities				

^{*}Ms. Fucci was originally BOE approved for this assignment on 10/1/14. This recommendation is for an additional 30 hours.

APPOINTMENTS OF SUMMER RECREATION STAFF 2015-2016

Last Name Returning Em	First Name ployees	Building	<u>Position</u>	<u>Effective</u>	Rate	Assignment
Arbour	Jay	WMHS	Counselor	7/1/2015	\$11.52	Half Day
Arcuri	Thomas	WMHS	Counselor	7/1/2015	\$11.52	Full Day
Ausset	Alison	WMHS	Counselor	7/1/2015	\$12.36	Half Day
Basso	Raymond	WMHS	Lead Counselor	7/1/2015	\$15.00	Half Day
Blaney	Deryn	WMHS	Counselor	7/1/2015	\$11.52	Full Day
Blunt	Haley	WMHS	Counselor	7/1/2015	\$11.52	Full Day
Bright	Jeanine	WMHS	Counselor	7/1/2015	\$19.17	Travel Camp
Byrne	Elizabeth	WMHS	Counselor	7/1/2015	\$12.36	Full Day
Cain	Helen	WMHS	Monitor	7/1/2015	\$13.50	Full Day
Caselli	Jake	WMHS	Counselor	7/1/2015	\$9.48	Half Day
Caselli	Lauren	WMHS	Counselor	7/1/2015	\$12.36	Full Day
Caselli	Alexa	WMHS	Director of Art	7/1/2015	\$13.81	Half Day
Chimienti	Jennifer	WMHS	Medical Staff	7/1/2015	\$20.00	Full Day
Corrie	Michael	WMHS	Counselor	7/1/2015	\$12.36	Full Day
Cottone	Sarah	WMHS	Counselor	7/1/2015	\$11.52	Half Day
Dion	Jean-Pierre	WMHS	Supervisor	7/1/2015	\$26.20	Travel Camp
Diviney	Brendan	WMHS	Counselor	7/1/2015	\$10.92	Full Day
Driscoll	Christina	WMHS	Supervisor	7/1/2015	\$26.20	Full
Discon	Christina	WWIIIS	Supervisor	7,1,2013	Ψ20.20	Day/Half Day
Edwards	Nellie	WMHS	Computer Room Supervisor	7/1/2015	\$12.11	Half Day
Egan	Alanna	WMHS	Counselor	7/1/2015	\$12.94	Full Day
Faughnan	Charles	WMHS	Counselor	7/1/2015	\$10.92	Full Day
Faughnan	Michael	WMHS	Counselor	7/1/2015	\$10.92	Full Day
Friedlander	Nicole	WMHS	Counselor	7/1/2015	\$12.36	Substitute
Gerlach	Alice	WMHS	Counselor	7/1/2015	\$10.92	Substitute
Gonsalves	Diana	WMHS	Counselor	7/1/2015	\$11.52	Substitute
Govenale	Morgan	WMHS	Counselor	7/1/2015	\$12.36	Half Day
Grillo	Samantha	WMHS	Counselor	7/1/2015	\$10.92	Full Day
Hughes	Erynn	WMHS	Counselor	7/1/2015	\$10.92	Full Day
Hunter	Elizabeth	WMHS	Counselor	7/1/2015	\$10.92	Full Day
Hunter	Lauren	WMHS	Counselor	7/1/2015	\$10.92	Full Day
Isaksen	Kristofer	WMHS	Director of Sports	7/1/2015	\$13.81/ \$11.52	Half Day/Full
Joseph	Juliapaige	WMHS	Zone/Counselor Counselor	7/1/2015	\$10.92	Day Full Day
Kepes	Jake	WMHS	Counselor	7/1/2015	\$10.92	Full Day
Lahti	Brendan	WMHS	Lead Counselor	7/1/2015	\$13.81	Full Day
Lee	Megan	WMHS	Counselor	7/1/2015	\$10.92	Half Day
Lee	Robert	WMHS	Counselor	7/1/2015	\$11.52	Full Day
Levanti	Lauren	WMHS	Counselor	7/1/2015	\$11.52	Full Day
Lorusso	Matthew	WMHS	Counselor	7/1/2015	\$11.52	Full Day
Marinus	Patricia	WMHS	Nurse's	7/1/2015	\$13.50	Full Day
McKenna	Kelsey	WMHS	Assistant Counselor	7/1/2015	\$11.52	Full Day
Miller	Michael	WMHS	Counselor	7/1/2015	\$11.52	Full Day
Mollergren	Kaitlyn	WMHS	Counselor	7/1/2015	\$12.11	Full Day
Mulligan	Olivia	WMHS	Director of Dance/Counsel or	7/1/2015	\$13.81/ \$12.36	Half Day/Full Day
Munisteri	Philip	WMHS	Counselor	7/1/2015	\$11.52	Substitute
Murphy	Robert	WMHS	Counselor	7/1/2015	\$21.54	Travel Camp
Narus	Lauraine	WMHS	Counselor	7/1/2015	\$13.53	Half Day
Naslonski	Kevin	WMHS	Counselor	7/1/2015	\$12.36	Full Day
Padrazo	Anthony	WMHS	Counselor	7/1/2015	\$11.52	Half Day

Pinard	Allison	WMHS	Counselor/Medi cal Staff	7/1/2015	\$12.36/ \$20.00	Full Day/Half Day			
Returning En	<u>nployees</u>								
Rahner	Emilee	WMHS	Counselor	7/1/2015	\$19.17	Travel Camp			
Rastivo	Michael	WMHS	Counselor	7/1/2015	\$10.92	Half Day			
Rezende	Tiffany	WMHS	Lead Counselor	7/1/2015	\$15.00	Full Day			
Rosa	Stephen	WMHS	Director of Art	7/1/2015	\$15.00	Full Day			
Salerno	Ashleigh	WMHS	Counselor	7/1/2015	\$12.36	Half Day			
Scarfogliero	Samantha	WMHS	Counselor	7/1/2015	\$10.92	Full Day			
Schnebel	Ellen	WMHS	Counselor	7/1/2015	\$10.92	Half Day			
Schnebel	Katie	WMHS	Counselor	7/1/2015	\$12.36	Full Day			
Schwartz	Jonathan	WMHS	Counselor	7/1/2015	\$21.54	Travel Camp			
Scott	Jonathan	WMHS	Supervisor	7/1/2015	\$26.20	Travel Camp			
Shay	Stephanie	WMHS	Counselor	7/1/2015	\$11.52	Full Day			
Short	Danielle	WMHS	Counselor	7/1/2015	\$10.92	Full Day			
Singleton	Lindsey	WMHS	Counselor	7/1/2015	\$11.52	Full Day			
Smith	Jennifer T.	WMHS	Counselor	7/1/2015	\$12.11	Substitute			
Smith	Jennifer M.	WMHS	Counselor	7/1/2015	\$12.94	Half Day			
Steinmuller	Eric	WMHS	Counselor	7/1/2015	\$11.52	Full Day			
Stiles	Adam	WMHS	Counselor	7/1/2015	\$21.54	Travel Camp			
Swart	Melissa	WMHS	Counselor	7/1/2015	\$21.54	Travel Camp			
Szymanski	Alexandra	WMHS	Counselor	7/1/2015	\$10.92	Full Day			
Tirelli	Andrew	WMHS	Counselor	7/1/2015	\$11.52	Full Day			
Tirelli	Taylor	WMHS	Counselor	7/1/2015	\$11.52	Full Day			
Ulrich	Brad	WMHS	Counselor	7/1/2015	\$12.36	Full Day			
Ulrich	Thomas	WMHS	Counselor	7/1/2015	\$10.92	Half Day			
Vilceus	Lemuel	WMHS	Counselor	7/1/2015	\$11.52	Full Day			
Vitberg	Zehava	WMHS	Supervisor	7/1/2015	\$26.20	Full Day			
Returning En	nployees		•			·			
Voigt	Lindsay	WMHS	Counselor	7/1/2015	\$10.92	Full Day			
Wall	Robert	WMHS	Counselor	7/1/2015	\$12.36	Substitute			
Ward	Ryan	WMHS	Counselor	7/1/2015	\$10.92	Half Day			
Warren	Jessica	WMHS	Counselor	7/1/2015	\$12.36	Full Day			
Warren	Julianne	WMHS	Counselor	7/1/2015	\$11.52	Full Day			
Webster	Ashley	WMHS	Counselor	7/1/2015	\$11.52	Full Day			
New Hires	•					•			
Abad	Dylan	WM	Counselor	7/1/2015	\$9.48	Full Day	CURRENT		
Acosta	Susan	WM	Counselor	7/1/2015	\$10.92	Substitute	STUDENT DISTRICT		
Caggiano	Joseph	WM	Counselor	7/1/2015	\$10.92	Half Day	EMPLOYEE		
Cavanagh	Samantha	WM	Counselor	7/1/2015	\$10.92	Full Day	CURRENT		
						Tun Duy	STUDENT		
	_		Sugarman, Employe		_	** 10 5	arm b com		
Davenport	Shawn	WM	Counselor	7/1/2015	\$9.48	Half Day	CURRENT STUDENT		
DiLiello	Jessica	WM	Counselor	7/1/2015	\$10.92	Full Day			
Dobkowski	Matthew	WM	Medical Staff	7/1/2015	\$20.00	Substitute			
Feehan	Deborah	WM	Counselor	7/1/2015	\$10.92	Substitute	DISTRICT		
Fellows	Lauren	WM	Counselor	7/1/2015	\$9.48	Full Day	EMPLOYEE CURRENT STUDENT		
Gazura	Kaylie	WM	Counselor	7/1/2015	\$10.92	Full Day	STODENT		
Giarrusso	Tara	WM	Director of	7/1/2015	\$13.81	Full Day	DISTRICT		
Hart	Brandon	WM	Science Counselor	7/1/2015	\$10.92	Full Day	EMPLOYEE CURRENT		
						•	STUDENT		
Hughes	Kyra	WM	Counselor	7/1/2015	\$9.48	Full Day	CURRENT STUDENT		
Ms. Hughe	Ms. Hughes is the sister of Erynn Hughes, Summer Recreation Counselor.								
Those identifi	ied as High Sch	ool Students	do not require finge	erprinting.					
New Hires									
Kepes	Samuel	WM	Counselor	7/1/2015	\$10.92	Full Day	CURRENT STUDENT		

Mr. Kepes is the brother of Jake Kepes, Summer								
Recreation Co Koester		WM	Counselor	7/1/2015	\$10.92	Half Day	CURRENT	
Ms. Koester is the niece of Donald Muldoon, Para at Ward Melville High School.								
Lorusso	Thomas	WM	Counselor	7/1/2015	\$9.48	Substitute	CURRENT STUDENT	
Mr. LoRusso Counselor.	is the brother	of Matthew L	oRusso, Summer Ro	ecreation				
Mandrac- chia	Robert	WM	Counselor	7/1/2015	\$10.92	Full Day		
Milano	Samantha	WM	Counselor	7/1/2015	\$10.92	Full Day		
	-	of Michael M	ilano, Custodian at	Nassakeag				
Elementary S Miller	Emily	WM	Counselor	7/1/2015	\$9.48	Half Day	CURRENT STUDENT	
Ms. Miller is Services.	the daughter of	Linda Miller	, Senior Clerk Typi	st in Pupil Po	ersonnel		STODENT	
Morseman	Janet	WM	Director of Animal Safari	7/1/2015	\$13.81	Full Day	DISTRICT EMPLOYEE	
Nuss	Tyler	WM	Director of	7/1/2015	\$13.81	Full Day	EMI EO TEE	
Mr. Nuss is t	he son of Allis	on Nuss, Subs	Tennis stitute Teacher.					
O'Hea	Matthew	WM	Counselor	7/1/2015	\$9.48	Half Day	CURRENT	
Parrella	B. Samantha	WM	Counselor	7/1/2015	\$9.48	Full Day	STUDENT CURRENT	
Perniciaro	Jill	WM	Counselor	7/1/2015	\$10.92	Full Day	STUDENT	
Ms. Perniciaro is the daughter of Barbara Perniciaro, Clerk Typist at Ward Melville High School.								
Perniciaro	Lisa	WM	Counselor	7/1/2015	\$10.92	Full Day		
Ms. Perniciaro is the daughter of Barbara Perniciaro, Clerk Typist at Ward								
Melville High Pinard	Justin	WM	Director of Music	7/1/2015	\$13.81	Half Day		
Postorino	Pietrina	WM	Counselor	7/1/2015	\$19.17	Travel Camp		
Those identifi	ied as High Sch	nool Students	do not require finge	erprinting.				
New Hires								
Reyes	Hayley	WM	Counselor	7/1/2015	\$9.48	Half Day	CURRENT STUDENT	
Ms. Reyes is	the daughter of	Maureen Re	yes, Teacher at Seta	uket Elemen	tary School.		STODENT	
Russolillo	Noelle	WM	Counselor	7/1/2015	\$9.48	Substitute	CURRENT STUDENT	
Ms. Russolille	o is a relative o	f Grasiela Ru	ssolillo, TA at Setat	uket.			STODENT	
Silverman	Rebecca	WM	Counselor	7/1/2015	\$10.92	Substitute	GRADUATI NG SENIOR	
Squatrito	Jessica	WM	Counselor	7/1/2015	\$19.17	Travel Camp		
Tilley	Alexandra	WM	Counselor	7/1/2015	\$10.92	Full Day		
Tranchino	Claire	WM	Director of Dance	7/1/2015	\$13.81	Full Day		
Ms. Tranchino is the daughter of Gretchen Tranchino, a teacher at Setauket.								
Van Vechten	Christina	WM	Counselor	7/1/2015	\$9.48	Substitute	CURRENT STUDENT	
Vilceus	Matthew	WM	Counselor	7/1/2015	\$10.92	Full Day		
Mr. Vilceus is the brother of Lemuel Vilceus, Summer Recreation Counselor.								
Weber	Dylan	WM	Counselor	7/1/2015	\$10.92	Full Day		
Zanone	Olivia	WM	Counselor	7/1/2015	\$10.92	Half Day		
Those identifi	ied as High Sch	nool Students	do not require finge	erprinting.				
				DD 6 5=	3.6			
		S	SUMMER ESY	PROGRA	M			

SUMMER ESY PROGRAM APPOINTMENTS 2015

Last Name	First Name	Building	<u>Effective</u>	<u>Title</u>	Rate
Novok	Eileen	Mount	7/6/15-8/14/15	SEA	\$13.50 per hour
Substitute List					
Ockner	Ashley	Mount	7/6/15-8/14/15	SEA	\$11.65/per hour
*Sabinsky	Leigh	Mount	7/6/15-8/14/15	SEA	\$11.65/per hour
*new employee					
Authorized School Bu	us Monitors				
Drosselmeier	Theresa		July 6-14, 2015	Bus Monitor	\$13.50 per hour
Wilkom	Michele		July 6-14, 2015	Bus Monitor	\$13.50 per hour
Burger	Susan		July 6-14, 2015	Bus Monitor	\$13.50 per hour
Shecter	Susan		July 6-14, 2015	Bus Monitor	\$13.50 per hour

Iannotto	Kim	July 6-14, 2015	Bus Monitor	\$13.50 per hour
Blatny	Ivana	July 6-14, 2015	Bus Monitor	\$13.50 per hour
Alberti	Cathy	July 6-14, 2015	Bus Monitor	\$13.50 per hour
Portuallo	Jean	July 6-14, 2015	Bus Monitor	\$13.50 per hour
Gresch	Maureen	July 6-14, 2015	Bus Monitor	\$13.50 per hour
Wegenaar	Nancy	July 6-14, 2015	Bus Monitor	\$13.50 per hour
Zager	Cherie	July 6-14, 2015	Bus Monitor	\$13.50 per hour
Novok	Eileen	July 6-14, 2015	Bus Monitor	\$13.50 per hour
Haff	Nicole	July 6-14, 2015	Bus Monitor	\$13.50 per hour
Yasson	Carol	July 6-14, 2015	Bus Monitor	\$13.50 per hour

ELA SUMMER READING PROGRAM APPOINTMENTS

<u>Last Name</u>	First Name	Building	Assignment	Effective	Rate	Hours	Not to Exceed
Heilberger	Madlyn	Setauket	Clerical	7/6-7/30, 2015	Regular hourly rate	48	\$1,063.20
Blackburn	Lauren	Setauket	SEA	7/6-7/30, 2015	\$13.50	48	\$648.00
Buehler	Cathy	Setauket	SEA	7/6-7/30, 2015	\$13.50	48	\$648.00
Buscemi	Susan	Setauket	SEA	7/6-7/30, 2015	\$13.50	48	\$648.00
Faughnan	Bridget	Setauket	SEA	7/6-7/30, 2015	\$13.50	48	\$648.00
Homan	Debra	Setauket	SEA	7/6-7/30, 2015	\$13.50	48	\$648.00
Irizarry	Linda	Setauket	SEA	7/6-7/30, 2015	\$13.50	48	\$648.00
Mundy	Christine	Setauket	SEA	7/6-7/30, 2015	\$13.50	48	\$648.00
Palmer	Gena	Setauket	SEA	7/6-7/30, 2015	\$13.50	48	\$648.00
Petitto	Susanne	Setauket	SEA	7/6-7/30, 2015	\$13.50	48	\$648.00
Roddin	Judy	Setauket	SEA	7/6-7/30, 2015	\$13.50	48	\$648.00
Williams	Jacqueline	Setauket	SEA	7/6-7/30, 2015	\$13.50	48	\$648.00
Wright	Barbara	Setauket	SEA	7/6-7/30, 2015	\$13.50	48	\$648.00
Robinson	Kellie	Setauket	Substitute-SEA	7/6-7/30, 2015	\$11.65	48	\$559.20

CLERICAL SUPPORT FOR VARIOUS FUNCTIONS

Last	First Name	Building	Assignment	Effective	Rate	Hours	Not to
Name							Exceed
Bartunek	Alberta	WMHS	Graduation	6/28/15	double	6	6
			2015		time		
Grimmer	Patti	WMHS	Graduation	6/28/15	double	6	6
			2015		time		
Lawlor	Andrea	WMHS	Graduation	6/28/15	double	10	10
			2015		time		

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education Meetings of: January 13, 22, March 18, 31, April 22, 23, 24, 28, 29, 30, May 1, 6, 7, 8, 13, 22, 26 and 28, 2015

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Preschool Special Education Meetings of: May 7, 19, 21, 27, June 1, and 2, 2015 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

INFORMATIONAL ITEMS OF INTEREST

There were no Informational Items of Interest.

PUBLIC PARTICIPATION Three was no Public Participation at this time.

ADJOURNMENT

There being no further business to be conducted, motion was made by Dr. Kerman, seconded by Ms. Germano, and carried by a 6-0-0 vote to adjourn the meeting at 9:15 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk